SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| o002
MATHEMATICS / 7Tfor

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue AfHaq 3id : 90

General Instructions:

(i)
(i)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.
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If x=3+242, then find whether x + 1 is rational or irrational.
X

afs x=3+2 2% & T TR x + L we uf e § a s ?
X

Which of the following is a quadratic polynomial in one variable ?

(A) V2x% +5 (B) 2x2+2x 2 Q) x2 (D) 2x2+1y2

frreferfad # @ s 91 sigue Tk = H fgd sigue 2 2

(A) V2x% +5 (B) 2x2+2x 2 Q) x2 (D) 2x2+y2

When p(x) is divided by ax — b then the remainder is :

(A) p(a+b) (B) p(—b/a) (C) p(a/b) (D) p(b/a)
S p(x) = ax — b & faufsa foman s & O 9w €

(A) p(at+b) (B) p(—b/a) (C) pla/b) (D) p(b/a)

The zero of the polynomial p(x)=2x+51is:

(4) 2 ®) > © 0 ©) -2

Select the statement which is not true :

(A) Only one line can pass through a single point

(B) Only one line can pass through two distinct points

(C) A terminated line can be produced indefinitely on both the sides

(D) If two circles are equal, then their radii are equal.

A FHYF I
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(A) T forg & FHaet T a1 Wi S w2

(B) 3 firar forgaedl § hoet T @1 ToR Hahall ¢ |

(C) s wia T =i SAl AR A= T4 | 9gM™1 STHhd @ |
(D) =fe < 97 seR €, @ 37 1 e oft s 2t B

Given AOAP =AOBP in the figure below, the criteria by which the triangles are
congruent :

A

A

(A) SAS (B) SSS (C) RHS (D) ASA
=1 empfa §, AOAP = AOBP | wafmaar & 34 f7om =1 ford fSod ag gen & -

A

A

(A) SAS (B) SSS (C) RHS (D) ASA

Heron’s formula is :

(A) A= \/s(s+ a)(s+ b)(s+ ¢

(B) A= (s—a)(s—Db)(s— c)

) A= \/s(s— a)(s— by(s—c,s=a+b+c

(D) A=(s(s—a)(s—b)(s—c),2s=a+b+c

AR GIE

(A) A= s(s+a)(s+ b)(s+ 0

B) A=JE-aG-DGE- 0
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10.

11.

12.

(C) A= s(s—a)(s—b)(s—c,s=a+b+c

(D) A= s(s—a)(s—b)(s—c),2s=a+b+c

In an equilateral triangle of side ‘a’, the length of the altitude is :

B2 @ B © BGa (D)

Ifg FHeTg 1S &t s ‘@’ &, o Tees St T o -

B2 g Ba © Ba (D)

Section-B

Question numbers 9 to 14 carry two marks each.
-3 _
mplify : [SL)4 x J(25) 72, (57
Simplify : (16) X {( 9) (2) }
81 _73 25\ 2 (577
e (2] (227

Using appropriate identity evaluate (999)3.

e 3 Al 1 W F W T[T : (999)3,

Factorise the polynomial 4y2—4y +1.

TOEUE SIS : 4y2 — 4y +1

Zﬁa

2\/§a

In the given figure, it is given that 1= 2Z4 and 43 = Z2. By which Euclid’s

axiom, it can be shown that if /2= /4, then £1= /3.
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B

T~
2 /4
S ( R

T oA H, L1= z4 7w £3= /2% Ffewrs % T aifvrEia @ 9w Tag fren w1 gk § o afe
/2= /4% @ £L1= /3%

P Q
B

2//1-1\

13. " In the given figure, ABC is a triangle in which AB=AC and AD is an altitude on
BC. Prove that AD bisects ZA.

A

w
U—I
@]

& T emhfa #, ABC & fayet § i AB=AC 2R AD 31 BC = o= g1 fag sifsw y=m AD,
/A w1 TEfgISE € |

OR
An angle is equal to five times its supplement. Find the measure of the angle.
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14.

15.

16.

17.

Tk hIT 79 FYXeh IV T U= AT &1 IV hT BT G HITC |

Draw a quadrilateral ABCD, whose vertices are A(3, 2), B(2, 3), C(—4, 5)
and D(5, —3).
& wgdst ABCD s fsees 3 g € : A(3, 2), B(2, 3), C(—4, 5)

s D(5,—3)

Section-C

Question numbers 15 to 24 carry three marks each.
Represent +5 on the number line.

J5 & e W ) fefud sifsa

OR

Express 0.001 in the form of B, where p and g are integers and q = 0.
q

0.001 %1 £ % v # = Fifsw sl p qon g ot @ g = 021
q

3
If x=1— /2, find the value of [x - 1] .

X

3
gfex=1— J2 & @ [x - %] 1 T G HIFAT |

Factorise : (2x — y)6 —(2x+ y)6

TEETE F (20 — )0 — (2x +1)0

OR

If (2x —3) is a factor of 2x# —3x2 +15x — 15k, find the value of (3k— 5 k).

Az (2x — 3) wigae 2x4 — 3x2 +15x — 15k &1 qoraws &, @1 (3k — /5 k) &1 =M 70 i)
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18.

19.

20.

Find the value of a3 + b3 + 6ab — 8, whena+b=2.

afa+b=2% @ ad+ b3+ 6ab— 8 1 7 I FRTT

In the given figure, BD L AC, Z/DCB=30°and ZEAC=50°. Find the values of x
and v.

OR

Two parallel lines are intersected by a transversal. Prove that the bisectors of
two pairs of interior angles enclose a rectangle.

It T FHRR @e i T fade T wiaested i @, @ fHg iy fo o= i o < i &
HHfg TSR] | Teh STl el € |

In the figure below, find x.

A
400
E
fo0—E&
90° \\
B C D
11 eTeRfa ® x &1 A T4 i |
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2. In the given AABC, AD is the median. BLLAD and CM_LDM. Prove that
BL=CM.

22. Inthe given figure, AC=AE, AB=AD, ZBAD= ZEAC, prove that BC=DE.

3t g8 emafa §, AC=AE, AB=AD, ZBAD= ZEAC? fag =ifsie f& BC = DE.

E
A

=
v
@)
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23.

24,

25.

In the given figure, if BE is bisector of ~#ABC and CE is bisector of ZACD , then

show that /BEC = % /BAC .
A E
B cC D

& ¢ arepfa #, afe BE aean CE s9s:  ZABC d ZACD % SH{gwISe @, i g9isy f

ZBEC = % ZBAC .

A E

Y

Find the area of a triangular park, two sides of which are 18 m and
10 m and the perimeter is 42 m.

Teh TR qreh sht & el i dargal 18 . den 10 =i ®1 =fg widh 1 uftam 42 =@ & @ ureh
BRI EICIEIS !

Section-D

Question numbers 25 to 34 carry four marks each.

} ) . 1
Rationalise the denominator of }
o | 76— 13
1
& B R TRAFTRTOT HifaT |
7+ 6 — 13
OR

Find two irrationals between ; and ; .

Page 9 of 12



26.

27.

28.

29.

30.

31.

; siR ; 3 o § & e et 3m HeT

_ Ja+2b ++a—-2b

If x =
* Ja+2b —+a—-2b

, show that bx2—ax+b=0

=«/a+2b+\/a—2b 5 _
afg x \/a+2b_\/a_2b%ﬁﬁ1%@13ﬁbx ax+b=0

Factorise (x + 1)3 —(x— 1)3.

(x+1)3 — (x—1)3 ¥ TrETs i

Find the value of 27x3 +8y3 if 3x + 2y =14 and xy=8.

27x3 + 8y3 =1 M 7 o A 3x + 2y =14 Aen xy =8 ¥

lfa+b+c=15and a2 +bl2+cl= 83, then find the value of a3 +b3 +c3—3abc.

gfta+b+c=15qMal +b2+c2=83% a3 + b3+ c3 — 3abc F1 AH 7@ FfU)

OR
Factorize : x3 — 23x2 +142x — 120.

TS T : x3 — 23x2 + 142x — 120

(i) Plot the points M (5, —3) and N (—3, —3).
(ii) What is the length of MN ?

(iii) Find the co-ordinates of points A, B and C lying on MN such that
MA =AB=BC=CN.

(i) fagM (5, —3) s N (=3, —3) =l &g aa § AifEd BT |

(i) @ MN #! o 3 Fif

(iii) A, B @i C fogaii & fwier I wifse st fe MN = feera € it MA = AB=BC=CN.

The side BC of AABC is produced on both sides. Prove that the sum of the two
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32.

33.

exterior angles so formed is greater than ZA by 180°.

AABC =t st BC =i Sl 3R sigran 71 &1 fog FifSy & 59 ¥R o9 1 =g il &1 9 LA 8
180° a1fger ©

In Figure, ABCD is a square and ADEC is an equilateral triangle. Prove that :

(i) AADE =ABCE (i) AE=BE (i) ~DAE=15°
E

DA e

A B

3meRfa 12 %, ABCD & o1 § qen ADEC us wwag s €1 fag wifs f

(i) AADE = ABCE (i) AE=BE (iii) /DAE =15°
E

Df n¢

A B

In the given figure, if two isosceles triangles have a common base, prove that
line segment joining their vertices bisects the common base at right angles.

A

N4

D
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§ T eepfa ), afe 1 wufgerg sl &1 ouR T & ¥, O fag Fifee foe 5T ot i faem et e
TR ! HRIU TR GRS hidt § |

A

NE

D

34. In the figure given below, PQR is a triangle and S is any point in its interior, show that,
SQ+SR < PQ+PR.

P
il
Q R
& T 3Tpfd W QR Tk e ® 3i SEeh et W # 1 fog s €, < 9z f SQ+ SR < PQ+PR.
P
T
Q R
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